
12
.8
60
°

R
4
0.000

R
30.000

45.000°

4
5.000°

7x

7x

0.25 A

0.10 A

8x

8x

3.000±0.1

3
.0
0
0
±
0
.1

Gemeinsame Anforderung:

16 Bohrungen

Translatorische Einpassung

Rotatorische Einpassung

Distanzmessung X=3.000

Distanzmessung Y=3.000

getrennte Anforderungen



12
.8
60
°

R
4
0.000

R
30.000

45.000°

4
5.000°

7x

7x

0.25 A

0.10 A

8x

8x

3.000±0.1

3
.0
0
0
±
0
.1

Gemeinsame Anforderung:

16 Bohrungen

Translatorische Einpassung

Rotatorische Einpassung

Distanzmessung X=3.000

Distanzmessung Y=3.000


